
SER VICE IN STRUC TION M20-88

DATE: 5 - 1 - 90

SUB JECT: STA BI LIZER TRIM STOP/SCREW MOD I FI CA TION
MODEL/S/N AF FECTED: M20J   - S/N 24-0001 THRU 24-1694 & 24-3000 THRU 24-3172

M20K  - S/N 25-0001 THRU 25-1230
M20L  - S/N 26-0001 THRU 26-0041
M20M - S/N 27-0001 THRU 27-0058

TIME OF COM PLI ANCE: AT OWNERS DIS CRE TION
IN TRO DUC TION:

There have been oc ca sions when the el e va tor trim con trol wheel has been man u ally turned to the ex treme nose
up or nose down con di tion and the elec tric trim sys tem was un able to move the trim in di ca tor nut off the stop at
the next elec tri cally ac ti vated com mand. Man ual move ment must be the ini tial ac tion to get the trim in di ca tor nut
off the stop, then the elec tri cal sys tem will op er ate nor mally.

If an air craft owner has ex pe ri enced this sit u a tion in his rou tine hab its of op er a tion, the in cor po ra tion of this Ser -
vice In struc tion may be de sired.
IN STRUC TIONS:

M20J, M20K, M20L, M20M AIR CRAFT MODELS
1. Re move belly ac cess pan els or smooth belly fair ing to gain ac cess to lower side of the trim con -
trol wheel as sem bly.
2. Re move trim in di ca tor wire from trim screw nut by loos en ing set screw(s) that re strain trim wire.
3. Re move any brack ets con nected to gear box bolts (In dex 1, Fig ure SI M20-88-2) both sides if re -
quired. Dif fer ent mod els have dif fer ent type of brack ets.

NOTE:
You do not have to open the gear box hous ing to ac com plish this SI.

4. Re move cot ter pin, washer and pin that se cures trim tube uni ver sal joint to trim screw (Fig ure SI
M20-88-1).
5. Loosen gear box bolts (In dex 1, Fig ure SI M20-88-2) if not al ready done, and both NAS428-3-4
bolts (In dex 2, Fig ure SI M20-88-2) to give slack in roller chain be tween up per and lower sprocket of
trim con trol wheel as sem bly.
6. Re move #25 mas ter link of roller chain and re move chain. This may be done from in side air craft
cabin if de sired, af ter re mov ing chain and sprocket cover.
7. Re move roll pin, P/N RPA52-028-125-1125 hold ing lower sprocket, P/N 740049, to gear box shaft. 
Re move sprocket.
8. Loosen set screw, #6-32 x 1/8, in each ex ist ing trim stop so they will un screw eas ily. Re move aft
trim stop (DN stop) from trim screw (Fig. SI M20-88-1).
9. Gear box as sem bly should move freely. Tilt gear box (for ward end down ward) un til trim screw in -
di ca tor nut will clear slot ted bracket that guides/re strains trim screw in di ca tor nut dur ing its for ward
and aft travel.
10. Turn sprocket shaft to re move trim screw in di ca tor nut. When trim screw iindicator nut is clear of
bracket  gear box as sem bly can be re moved from air craft and put on work bench to com plete mod i -
fi ca tion.
11. Re move for ward stop nut (UP stop) from trim screw.

If air craft model be ing mod i fied is M20K, M20L or M20M, procede to Step 22 and com plete  sub -
se quent steps.

 If M20J model is be ing mod i fied con tinue with Step 12 and com plete all re main ing steps.

12. Mea sure and doc u ment lat eral free play in trim screw shaft (length wise play) as as sem bled in
the gear box as sem bly.
13. Re move for ward snap ring from trim screw. Ref er ence Fig ure SI M20-88-1
14. Lightly tap trim screw at for ward end, with a plas tic mal let, to drive trim screw, bush ings, wash -
ers, gear and aft bear ing from gear box as sem bly hous ing. Bear ings are in stalled with locktite (Blue) 
at as sem bly, so some ef fort may be re quired to break it loose. DO NOT DAM AGE BEARING NOR
HEAT THE HOUSING.
15. When ex ist ing trim screw, and com po nents at tached to it, co mes free from gear box hous ing,
the bush ings, wash ers, gears, wood ruff key, snap ring and aft bear ing will be re moved. Re tain  com -
po nents, ex cept woodruff key, to place back on new trim screw (Fig. SI M20-88-1).



NOTE
Re fer to the Il lus trated Parts Cat a log Fig ure “Sta bi lizer Trim Con trol Sys tem, For ward”, for the

model be ing mod i fied if needed for ad di tional view of as sem bly.

16. In stall ex ist ing snap ring, P/N NAS51-37 on mid groove of new trim screw, P/N 740016-019. Re as -
sem ble shim(s), bear ing, bush ing, washer(s), Boston gear, new wood ruff key, washer(s) and spacer
on new trim screw.
17. In spect for ad e quate and proper lu bri ca tion of gear box and trim screw as sem bly. Re fer to ap pro -
pri ate Ser vice and Main te nance Man ual, Sec tion 5, Lu bri ca tion Guide for proper lu bri cant of the trim
gear box as sem bly.
18. In sert new as sem bly into gear box as sem bly. Use Locktite (Blue) on aft bear ing flange.
19. In stall other snap ring in end groove of new trim screw as it pro trudes through for ward bear ing.
20. Mea sure lat eral free play of as sem bled trim screw to en sure that free play does not ex ceed 0.010 TIR.
21. Add NAS70CL390-625, shim washer(s) un der AN960-616L washer or un der ei ther snap ring as
needed to main tain 0.010 TIR free play. Trim screw as sem bly will re quire re moval from gear box hous -
ing again if shims are re quired un der AN960-616L washer(s).

CAU TION
 The new mod i fied trim screw/gear box as sem bly should be shimmed for a max i mum lat eral free

play of 0.010 TIR.
The steps be low should be used on all air craft mod els for ret ro fit of the stepped stop nuts con fig -

u ra tion on trim screw. Pick up M20K, M20L & M20M ret ro fit steps here from Step 11.

22. In stall one jam nut (UP stop side), P/N 740086-003 (M20J) or 740086-001 (M20K, M20L or M20M), 
on trim screw. Screw to ward gear box hous ing leav ing ap prox i mately 0.375 inch gap on threads be -
tween gear box and jam nut (Fig ure SI M20-88-2).
23. In stall one stepped stop nut (UP stop), P/N 740086-007 (M20J) or 740086-005 (M20K, M20L or
M20M) on trim screw. Screw to ward gear box hous ing and against jam nut in stalled in step 22.

CAU TION
The stepped por tion of stop nut must be fac ing away from gear box hous ing.

24. Po si tion gear box/trim screw as sem bly to lower trim wheel as sem bly so new trim in di ca tor nut,
P/N 740086-011 (M20J) or 740086-009 (M20K, M20L or M20M) can be placed on trim screw and
screwed in place to proper po si tion within slot ted bracket area. This is the re verse of Steps 9 & 10.
25. In stall other stepped stop nut (DN stop) (stepped side to ward trim in di ca tor nut) on trim screw.
26. In stall other jam nut on trim screw against stop nut (DN stop).
27. Re verse Steps 2 thru 7 to re po si tion gear box as sem bly back on trim wheel as sem bly. Do not
tighten trim in di ca tor wire set screw at this time. Po si tion all other brack ets but do not tighten bolts
hold ing gear box as sem bly to trim wheel as sem bly (Fig. SI M20-88-2).
28. See Sec tion 27-40-01, para. 5, for in struc tions on ad just ment of trim wheel chain ten sion. Tighten
gear box bolts with at tached brack ets in proper po si tion.
29. Ref er ence ap pro pri ate Ser vice and Main te nance Man ual for the model air craft be ing mod i fied for
Sta bi lizer Trim Con trol Rigging, Sec tion 27-40-01, para. 1 & 2. This in struc tion per tains to the orig i nal
con fig u ra tion stop nut rig ging pro ce dure but is ap pro pri ate for the new stepped stop nut con fig u ra tion 
with the ad di tion of in struc tions for the jam nuts and stop nuts to be torqued to gether prior to the set
screw in each jam nut be ing tight ened.

CAU TION
Each jam nut and stepped stop nut MUST be torqued to gether with wrenches, then the set screw
in each jam nut tight ened down on trim screw. Be fore proceding fur ther, run trim sys tem through

at least two com plete nose up and nose down cy cles to en sure stops are cor rect and did not
move dur ing the tight en ing of set screws or torqueing pro ce dures. Re fer to Sec tion 27-40-01 for
proper neg a tive and pos i tive an gles for sta bi lizer in full nose up and full nose down po si tions.

30. Af ter proper sta bi lizer trim con trol rig ging is com pleted, re fer to Sec tion 27-40-01, para. 3, for sta -
bi lizer trim in di ca tor rig ging.
31. When all trim sys tem com po nents are ver i fied to be se cure and rig ging is com plete and proper, in -
stall belly skin(s).
32. En ter com pli ance note into air craft log book and re turn air craft to ser vice.

WAR RANTY: Moo ney Air craft Cor po ra tion is sub mit ting this SI as no ti fi ca tion of avail abil ity of ret ro fit 
kit to the field. There will be no war ranty con sid er ation for the pur chase of kit compon-
ents or for in stal la tion  of kit for this SI.

SERVICE INSTRUCTION M20-88  
DATE: 5 - 1 - 90 Page 2 of 4



REF ER ENCE
DATA: The ap pro pri ate Moo ney Ser vice and Main te nance Man ual, SEC TION 27-40-00 and Il lus trated
 Parts Cat a log fig ure for the model air craft be ing mod i fied.

PARTS LIST: KIT P/N: SI M20-88-1 (M20J ONLY)

ITEM . P/N . . . . . DE SCRIP TION . . . . . . . . QTY
1. . . 740016-019. . . . TRIM SCREW. . . . . . . . . 1
2. . . 740086-003. . . . JAM NUT. . . . . . . . . . 2
3. . . 740086-007. . . . STOP NUT . . . . . . . . . 2
4. . . 740086-011. . . . TRIM IN DI CA TOR NUT . . . . . . 1
5. . . #8-32 x 1/4 . . . . SET SCREW, TRIM IN DI CA TOR NUT/WIRE . . 1
6. . . AN565D4H2 . . . SET SCREW, JAM NUT . . . . . . 2
7. . . NAS70CL390-625 . . WASHER, SHIM . . . . . . . . 2
8. . . AN960-616L . . . WASHER. . . . . . . . . . 2
9. . . AN380-2-2 . . . . PIN, COTTER . . . . . . . . . 1
10. . . #204 . . . . . KEY, WOOD RUFF. . . . . . . . 1

. . . KIT P/N: SI M20-88-2  (M20K, M20L, M20M ONLY)
1. . . 740086-001. . . . JAM NUT. . . . . . . . . . 2
2. . . 740086-005. . . . STOP NUT . . . . . . . . . 2
3. . . 740086-009. . . . TRIM IN DI CA TOR NUT . . . . . . 1
4. . . #8-32 X 1/4. . . . SET SCREW, TRIM IN DI CA TOR NUT/WIRE . . 1
5. . . AN565D4H2 . . . SET SCREW, JAM NUT . . . . . . 2
6. . . NAS70CL390-625 . . WASHER, SHIM . . . . . . . . 2
7. . . AN960-616L . . . WASHER. . . . . . . . . . 2
8. . . AN380-2-2 . . . . PIN, COTTER . . . . . . . . . 1
9. . . #204 . . . . . KEY, WOOD RUFF. . . . . . . . 1

FIG URES/
TA BLES: See Fig ures be low and on next page.

 SERVICE INSTRUCTION M20-88
Page 3 of 4 DATE: 5 - 1 - 90

FIGURE SI M20-88-1



SERVICE INSTRUCTION M20-88  
DATE: 5 - 1 - 90 Page 4 of 4

FIGURE SI M20-88-2


